
 

 

 

 

 

 

 Gabarito dos exercícios de Matemática, pág.: 219. 

 

39) 110º + 155º = 256º 

      360º - 265º = 95º 

40) a) 3x + 10º  + 2x + 70º = 180º 

           5x + 80º = 180º 

           5x = 180º - 80º 

           5x = 100º 

            x = 100º/5 

            x = 20º 

 

b) 70º, 40º e 70º. 

2x = 2. 20º = 40º 

3x + 10º = 3. 20º + 10º = 60º + 10º = 70º  

c) Triângulo isósceles. 

41) ACD = 32º + 95º + x = 180º            ABD = 32º + 85º + y = 180º 

                  127º + x = 180º                               117º + y = 180º 

                  x = 180º - 127º                                 y = 180º - 117º 

                  x = 53º                                             y = 63º 

                                                              D = 180º - 95º = 85º 

 

42) a) 48º + 62º + M = 180º         b) NEP = 24º + E + 31º = 180º 

          110º + M = 180º                                55º + E = 180º 

          M = 180º - 110º                                 E = 180º - 55º 

          M = 70º                                              E = 125º 
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43) A = 2x = 2 . 20º = 40º  

      B = x = 20º 

      C = 3A = 3. 40º = 120º 

 

44) 

 

 

 

      a) ABH    = 2x + 42º + 90º = 180º     AHC = 24º + 90º + y = 180º 

                         2x + 132º = 180º                        114º + y = 180º 

                         2x = 180º - 132º                          y = 180º - 114º 

                         2x = 48º                                      y = 66º 

                          X = 48º/2 

                          X = 24º  

b) A = 2x + x 

    A = 2. (24º) + 24º 



    A = 48º + 24º 

    A = 72º 

 

45) 

  

 

 

 

 

 

 

 


